August 26, 2025
National Dog Day

Today in History:

First televised MLB game (1939)

19t Amendment adopted (1920)
Number of the Day: 966

966 =2x3x7x23

966 is the largest number that is 46 times the sum of its digits
Fun Fact:

It took Leonardo DaVinci 10 years to paint the Mona Lisa.
Quote of the Day:

“If you can dream it, you can do it.”

-Walt Disney

Today’s Weather:

Sun and clouds mixed, slight chance of a rain shower high 67°.



Math 121
Quiz #1
Write the inequality in the form a < x < b.
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